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' Maximum Marks: 80

Part A (Short Answers)

Answer all questi.ons.

Each questian carries L mark.

1. Define Mean and discuss its merits and demerits

2. qStatistics are Numerical statement of facts". Explain.

4. Distinguish between absqlute and relative measures of dispersion'

5. Define Dispersion

6. What is kurtosis ? '

7. Why index numbers are caltred economic bammeters ?

8. What is Fisher's index number ? Why is it designated ideal ?

=r 9. What is meant by time series analysis ?

\-/
10. Define Skewness.

(10x1=10)

PartB (BriefAnswers)

Answer anY eig&it qunstinns.

Each qnstbn carrics 2 marks.

. 11. Discussbrieflythelimitationsofstatistics

L2. Find Quartiles of the following distributioq

120, 
'.30, 

140, 110, 160, 150, 190, 180, L7O,200..

13. Find the Hamonic mean



9,6072

L4. Give two examples where geometric and harmonic mean would be most suitable average

18. What is mean deviation ? State the formula of mean deviation.

16. Co-efficient ofvariations of two series ate60{oand 807o. Their standard deviations are20 and 16.

What is their arithmetic mean ?

L7. Define,Moments'and point out their usefulness in statistical analysis.

1g. what are index numbers ? Mention 2 uses of index numbers.

19. lVhat are the considerations in the selection of the base year for index number construction ?

20. What are the components of time series ? v
2L. Ascertain the value of median if mean is 30 andmode is 28 ?

22. If N - 10, an dz*, - L000, what is standard deviation ?

(s x2= 16)

PartC(ShortEssaYs)

Answer anY six questi'ons'

Eath questinn carries 4 marks'

2g. Analyse the uses and limitations of index number'

ests of skewness ?24. What is Skewness ? What are the tu--- -' -'--"----:

25. Explain what you understand by absolute and relative dispersion ? What are the measures of

relative dispersion known to You ? -
26, What are the properties of an ideal average ?

27. Compute median from the following data :

Midvalue : 115 L25 135 L45 155 165 L75 185 195

Frequency : 6 25 48 72 116 60 38 22 3

zg. The number of telephone calls received at arr exchange are shown in the following frequency

distribution .Compute mean deviation :

No.ofcalls : 0 L 2 3 4 5 6 7

Frequency : L4 2L 25 4g 51 40 39 Lz
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29. Compute co-efficient of Skewness from the following clata :

Q1-Q3 = -8
Q1 +QB = 22

Median = 10.5.

E 6072

30. Calculate the cost of living index for the following data :

Commodity Price-baseyear ' Price-cutent year Quantity-base year.

A6850
823100

60

10 L2 30

BL. The mean salary paid to 1000 employees of a factory was found to be Rs. 180.4. Later on it was

discovered that the wages of two employees were wrongly taken as 297 and 165 instead of 197 and

185. Find the correct metrn.

(6x4=24)

Part D (Essays)

Answer anY two questions-

Each question carries L5 marhs.

-
32. Calculate mode of the following data :

Income between : 100-200 100-300 100-400 100-500 100-600

No. ofpersons : 15 33 63 83 100

BB. Ttre number of employees, wages per employee and the variance of the wage per employee for two

factories are given below :

Factary A Factory B

No. ofEmployees .. 50 100

Average wages per employee per week (rupees) .. LzO 85

Variance of wages per employee per week .. I 16

(a) In which factory is there greater variance in the distribution of wages per employee ?

(b) Which factory pays out larger weekly wages ?

T\rm over

C

\.,,
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g4. Calculate Fisher,s Ideal index from the following data and prove that it satisfies both the time

reversal and factor reversal tests :

ZOLI 2013

commod.ity Price Expenditure Price Expenditure

A88010L20

B

C

D

10

5

4

LzO L2

4A5

56

I

50

60

E 20 100 25 150

Bb. Calculate the long term trend with a three year period from the following data :

Year:20052006200720082009201020].120L2
1.,i67 1652 t120 3236 3562output ofTea (Tonnes) : L632 1557 L652 2100 2620 3

(2x15=30)

\,


